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Registering a Clicker
At the beginning of class, | will use the "Roll Call” feature. You will see
your name and student ID with a three letter code.

>

Grab a clicker from my stash at the beginning of class.

Look for your name with three letter code on the roll call display.
(Al names won't fit on one screen, so it will alternate between

groups.)
Turn the clicker on, and methodically enter your three letter code.

When your clicker is registered, your name box will turn gray with
an ID code in the bottom right corner.

If you press the wrong code, no worries, just press "DD” (or
"DDD").
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Clicker Questions
Sample Question 1

The line y = 3x + 1 is perpendicular to which of the following lines.

(a) y = —3x —1 S‘Q(M-.S 0" P«L\fiﬂé}c“"\o"'

(b) y=1x—1 Qinesam nagetie
\'tc\‘)'b(&g .

@y =—3x+4

(d) y=x-3

(e) None of the above
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Sample Question 2

Recall that for True/False questions, we’ll always use "A” for true and
"B” for false.

True/False If f is a one-to-one function satisfying f(2) = —3, then

©

f~1(-3)=2.

’it\\-s NS /\\.{ L\,,,c\'.a'\ /.H\\l'f'\k ‘chC)k-Bv\

relobron (\C\@ .
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Sample Question 3

The quadratic equation x2 +2x —8 =0
(x +4)(¥-2) =0

(a) has solutions x =4 and x = —2 x40 = X=Y

has solutions x =2 and x = —4

X-2=0 = X=2

(c) has solutions x = —-2and x =8

(d) has no real solutions.
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Sample Question 4
Suppose @ is an angle in standard position, and that

sind <0 and tané > 0.

The terminal side of § must be in quadrant

RTINS

(a) I (one)

—‘_'“: t'vxe W—
(b) 1l (two)
@ >0 in Foebs
@m(three) Toae

(d) IV (four)

(e) can’t be determined without more information
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Exam 1 part 1

When: Thursday January 19 (two days from now) from
10:05am—10:30am (25 minutes)

What: This exam will make up 35% of Exam 1 for the semester. It will
cover prerequisite topics: Algebra, trigonometry, and function basics.
Worksheets 1, 2, and 3 in D2L and the course page cover this material.

Why: The two main causes of poor performance in Calculus are (1)
prerequisite weakness, and (2) insufficient effort. The beginning of the
semester is the time to hone those prereq skills and position yourself
for success in this class.
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Simplify Each Expression

(@ In(e®)= %
: @dae =810
20

(-\)roE:\"\cs".
04\; =y —Cu- A x
60\»)( -,?( ‘Col‘ o X?D

Q,\a‘: z (",vao;,
‘ov\e:ﬁ'
fa\-=0

b
ob.'C N
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Factor completely

4(x +33(x —1)2 —2(x+3)*(x —1)73

3
-2 -
. () (‘1 -1 22 (3) (X'03>

: ()(-4L§)3(,¢.|‘)‘s (‘1({—\) -z(x-t-‘s)\
3 -3
2 (x43) (%=1 (\w—‘{—zx'(’ﬂ)

3 -3
2 (x> (x-1) (2% =10
3 -5
: 2()(.[5)()(-\) ()(—5)
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ThYS  can  lr jb_{j( os 1S o welen as

Y
2 (x4 ®-S)

—

(xY’
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Let f(x) = 2 — 4x2. Evaluate and simplify
f+h—f1)
h
FOy= z-u(r) =-2
Pleny « 2 -4 Q) = 2-Y (l«fzu )

T
2 2-Y-f-Uh : -7 -dnTh

> L) - £ -2-en-tnt - (-2)

W - W
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Consider the piecewise defined function

’
- x < —1

J— X —

f(x)_{x2—1, x> —1

Evaluate
> - = =
» f(0)= ') = -\
> f(1) = \*-)\ 0
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Produce a rough plot of f.

1 x < —1
= X -
fx) {x21, x> 1

as
[}
x\-
o<
[
X,
(

M
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Section 1.1: Limits of Functions Using Numerical and
Graphical Techniques

In Calculus, we consider the way in which quantities change. In
particular, if we have a function representing some process (motion of
a particle, growth of a population, spread of a disease), we can
analyze it to determine the nature of how it changes. We can also use
knowledge of change to reconstruct a function describing a process.

Central to analyzing change and reconstructing functions is notion of a
limit.
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Slope

We know that a non-vertical line has the form

y =mx+b.

The slope m tells us how the dependent variable y will change if the
independent variable x changes by a set amount Ax.
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Slope

Consider y = 3x — 1 which has slope m = 3.

Note that two points on this line are (1,2) and (3, 8). The change in x
between these two points is

Ax=3-1=2.

Compute the change in y, Ay.

A\g_‘ 8-2: Q -’-—52 =3A¥ =MQ¥

me B9
noke mox = Ay X
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Question

The slope of the line containing the points (2,2) and (3,7) is

By: 328
1
5 Ay = 3-2

()
pu—

(d) can’t be determined without more information
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Slope of a general curve
So slope of a line tells us how y changes when x changes. What if the
curve isn’'t a line??

¥ = f(x)

/—\

0 =

Figure: Can we consider slope for a curve like this?

January 17, 2017 20/69



The Tangent Line Problem

0 x

Figure: We begin by considering the tangent line problem. For a circle, a
tangent line at point P is defined as the line having exactly one point in
common with the circle. For the graph of a function y = f(x), we define the
tangent line at the point P has the line that shares the point P and has the

same slope as the graph of f at P.
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Slope of the Tangent Line

Question: What is meant by the slope of the function at the point P?

For now, let's assume that the graph if reasonably nice like the one in
the figure. Let P be at x = cand y = f(c)

i.e. P=(cf(c)).

To find a slope, we require two points. So let’s take another point Q on
the graph of 7. In term of coordinates

Q = (x, f(x)).

The line through the two points P and Q on the graph is called a

Secant Line. We will denote the slopes of the tangent line and the
secant line as

mtan and msec.
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Slope of the Tangent Line

We have two points on our curve y = f(x). The points at ¢ and x (with

X # ¢) are
P=(c,f(c)), and Q= (x,f(x)).

Compute the slope mgec of the secant line through these points.

Dy = foo- wc(o) AX =

= X-¢

o ny L Pro- £

M“ec DY X-C
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Slope of the Tangent Line

(x 1))

(e fle))

|

|

|

I
0 & 0 <
4 X
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Slope of the Tangent Line

We consider a sequence of points Qi = (x1, f(x1)), Q2 = (X2, f(X2)),
and so forth in such a way that the x-values are getting closer to c.

Note that the resulting secant lines tend to have slopes closer to that of
the tangent line.

Qr
(= f=x))

(c. fic))
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Slope of the Tangent Line

We call this process a limit. We will define the slope of the tangent line

as

- f(x)—f
Mian = | Limit of (X)C(C) as x gets closerto c| .

Our notation for this process will be

f(x) — f(c)

Mian = )I(anc X—C

The notation )I(anC reads as "the limit as x approaches c.”

Notation: The notation )l('an is always followed by an algebraic
expression. It is never immediately followed by an equal sign.
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A Working Definition of a Limit

Definition: Let f be defined on an open interval containing the number
¢ except possibly at ¢. Then

lim f(x) = L

X—C

provided the value of f(x) can be made arbitrarily close to the number

L by taking x sufficiently close to ¢ but not equal to c.
X: C ]S l\bL ?umn\'\gé
A YWY ACG‘:"‘\—‘O" .

n

L ©¢ essoaeted vl wy-velues

Y

asSoc.aXeo M o(-yelres

C S
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Example
Use a calculator to determine the slope of the line tangent to the graph
of y = x2 at the point (2, 4).

W Fig e o Tz , Q: (%, F o)

1
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0'\ F(K\';(I) _ Qn\ %I-q

Mkrn : X3 2 _T{/. X917 e

X F(X)_Z(z) lE aﬂueri 9'\"’\
X_
|,‘i,°- IN~ 7'-

19 [ Ghr . qa| oty
1.99 3.4%
1.999 2.99] in Lok - : Y
2 undefined i
2.001 4.00\
2.01 u.0\
21 &= g,
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Example

Use a calculator and table of values to investigate

jim &~
x—0 X
X f(x) = &
—0.1 (@' )/ on = 0.5510
—0.01 6,99 <o
—0.001 0.999¢
0 undefined
0.001 l.000%
0.01 . o050
01 (ew")/o.\ = l.0$ &

Docles Loae
O

m)(
]
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Question

True o@n order to evaluate )!IH]C f(x), the value of f(c) must be
defined (i.e. ¢ must be in the domain of f)?

£l weed rob b dedmed.
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